
Lecture 4 - Sep 16

Math Review

Implication: Alternative Exp. in English
Logical Quantifiers: Proof Strategies
Sets: Enumerations vs. Comprehension



Announcements/Reminders

• Today’s class: notes template posted
• Event-B Summary Document
• Priorities: 

+Lab1 → Due: This Tuesday (Sep 16)
+Lab2 → Due: Next Tuesday (Sep 23)



Expressing Implications
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Logical Quantifiers: Examples

∀ i • i ∈ ℕ ⇒ i ≥ 0

∀ i • i ∈ ℤ ⇒ i ≥ 0

∀ i, j • i ∈ ℤ ∧ j ∈ ℤ ⇒ i < j ∨ i > j

∃ i • i ∈ ℕ ∧ i ≥ 0

∃ i • i ∈ ℤ ∧ i ≥ 0

∃ i, j • i ∈ ℤ ∧ j ∈ ℤ ∧ (i < j ∨ i > j)
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Logical Quantifiers: Examples

How to prove ∀ i • R(i) ⇒ P(i) ?

How to disprove ∀ i • R(i) ⇒ P(i) ?

How to prove ∃ i • R(i) ∧ P(i) ?

How to disprove ∃ i • R(i) ∧ P(i) ?
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Prove/Disprove Logical Quantifications
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Sets: Definitions and Membership
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Relating Sets
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